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Set 10

What part of the figure below is
shaded?
528 Ch-4
D
Mathematics | PARTS &
9925 WHOLES
Answer
options
Option A Option B Option C Option D
0.004 1/4 0.4 0.04
A square sheet of paper with a
design on it is shown in the given
Ch-5 image. Now look carefully at the x | +
2 11 Does It Look figures shown below. Which of D
Math;matics The Same? these is also a picture of the s
square sheet shown in the given
4324 image?
Answer Options
Option A Option B Option C Option D
+ | = + | X - | % + |+
X | - = | - <+ | + x|
A. B. C. D.




Azima has shaped some clay in
ch-5 the solid shape shown above:
She now slices the solid through D D
" 2h_11 | DoesltLlook | the middle with a single cut. | .o, e
athematics | The same? | \what will the two resulting
4330 pieces look like?
Answer Options
Option A Option B Option C Option D
— \ — ',-;: /‘:W — — —-
OJ a0 OO OO
A. B. C. D.
Ch-5 [Kamal cuts a 2-metre long rope into three pieces. Which set
Does it shown below could be the pieces that he gets?
look the
2 11 same?
Mathematics| Answer Options
4306 Option A Option B Option C Option D
; -_u_.'_\socm_(_\LkF E SSCqdqdqaEaEaasEsaaas ‘ ?_‘)_\“_‘_ZT]—(\;;:\_LLHA_\J H COnnOT be
SCIIL e ) im SITLILLILOR cut into
50cm SQTTIIITTT 0w 200cm -
TEIITIIIIIOC 50cm SCOEIIIXXXIIIIAIIA e three preces.
50cm PIIIII IS I e 400cm
A. o C. D.
B.
Ch-5 |Which of the following pair of shapes when joined together
Does it |(by placing them edge to edge) can form a SQUARE? (The
s 11 look the |shapes can be turned if required)
-== | same?
Mathematics Answer Options
Option A Option B Option C Option D
5165 P P P : . ?P
AN \\ | VA
\ \ /
A B C D
ch-5 A square sheet of paper was cut into
two pieces with a straight cut. This is A
3 18 Does itlook | one piece: Which of the pieces shown
Mathematics the Same? | polow is the other?
3235
Answer Options
| OptionA | OptionB | OptionC | OptionD |




C.

B. D.
Ramlal cuts a wooden solid into two
Ch-5 parts with ONE straight cut. One of the x
318 Does It Look two pieces he gets looks like this: \\.\ D
Mathematics [The Same? |Which of the following could be the )
3259 original solid that Ramlal had?
Answer Options
Option A Option B Option C
B. C.
Ch-6 The difference of two numbers is 42. If the
Be my smaller number is increased by 10, the new
3_18 Multiple I'll Be (difference will be A
Mathematics [Your Factor
3252 Answer Options
Option A Option B Option C Option D
32 42 52 420
Ch-6 A~
Be A matchstick can measure L 2
My Multiple |each side of the given pd Ty
12 I'll Be Your |[triangle exactly. Which of 2bom B
Mathematics Factor  |[these could be the length of
the matchstick?
6773
Answer Options
Option A Option B Option C Option D
3cm 4cm 5cm 6cm




10

1.2

6778

Mathematics

Ch-6
Be

I'll Be Your
Factor

My Multiple

Mr. Frog and Mr. Toad are
sitting on a rock. There are
many stones in front of them.
Mr. Frog can jump 6 stones at
a time and Mr. Toad can jump
4 stones at a time. Which is
the first stone on which both
of them will land, if they jump
as far they can each time?

Answer Options

Option A

Option B

Option C

Option D

3 4

12

24

11

1.2
Mathematics

6782

Ch-6
Be

Factor

The number 10 has 4 factors -
1,
My Multiplithe NUMBER OF FACTORS for
e I'll Be Yourjsome numbers.

From this we can say that the
number of prime numbers
between 520 and 530 are:

2, 5 and 10. The table lists

Number

Number of Factors |

521

2

523

2

525

12

527

4

529

4

Answer Options

Option A

Option B

Option C

Option D

0

2

4

Cannot be said for

sure.

12

1.4

Ch-6
Be My
Multiple,I'll
be your Factor

F . F e S

/"‘ \ | |
/

may be correct?

TN

v =15 & timesZ N\ =54

If these number sentences are true, which of the following

Mathematics

7462

Answer Options

Option A

Option B

Option C

Option D




The first 5 multiples of a few i i
CH-6 Be my tip Numbers| First 5 Multiples
Multiole 'l numbers are given below: 8: 8,16,24,32, 40
P Which of these pairs of numbers 12: 12,24, 36, 48, 60
Be Your .
Eact has 48 as its FIRST common 16: 16, 32, 48, 64, 80
1.4 actor | multiple? 24: [24,48,72,96,120
13 Mathematics
Answer Options
7486
Option A Option B Option C Option D
12 and 24 8 and 12 8 and 24 12 and 16
Ch-6 Leela is making gift packets for a
group of friends. Each packet
Be My . .
. contains 8 toffees and 5 lollipops. If
Multiple Fll | 1 e total number of lolii ded
2 11 be your Factor e total number of lollipops neede
Mathematics was 30, the number of toffees
14 needed would be
4322
Answer Options
Option A Option B Option C Option D
48 40 33 30
Ch-6 Simi has 14 red balls, 9 blue balls, and
Be My 12 yellow balls in a bag. What is the
Multiple, LEAST number of balls that she must
3_18 I'll be Your | take out to leave an EQUAL number of
15 Mathematics Factor. red, blue, and yellow balls in the bag?
3241 Answer Options
Option A Option B Option C Option D
3 5 8 35




